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JEkiz E5Z B4R 1 E FAT I BE ERE ZEROPEN

1 [BF XE BRTC 200 75 13 288
2 | EN B &MERTC 25 100 150 275
3 |/\ViE WX U—RT7IHL 150 100 250
4 |ka & HIB> 200 25 225
5 |&H XE TRKRF 150 50 13 213
5 |kl & EILEBRAHEERR 200 13 213
7 |[E)N AN YKK 50 25 100 175
8 |#HE B =HERBIT 100 50 150
9 [mR EA KHITS 25 13 50 25 13 126
10 |H¥ B AR—=Y AL b 50 13 25 25 113
10 (a1 & TCOIE-Yav 100 13 113
10 |B% = BEER 100 13 113
10 |% X3 KHTS 13 100 113
14 |E& b F=-2365 100 100
15 | %A Fi§ WA 13 50 25 88
15 |it8 35 WA 25 13 50 88
17 |k EE KMTS 13 25 13 25 76
18 |#AF iR BmmmT A 25 50 75
19 |98 BX WA 25 13 25 63
19 [k X KIBAR—Y 13 25 25 63
21 [T X WER 50 13 63
22 |¥E BA SKRMTA 13 20 13 13 59
22 'IB M BIELSTC 13 15 25 6 59
24 [1t®H =@ BWHTA 25 25 6 56
25 [/ EAT TUTAT 13 25 13 51
26 |@A —3 KEER 50 50
26 [#MF & HAKE 25 25 50
26 | @A HIB>D 50 50
26 | W BEBR 50 50
26 |MmE WER 50 50
31 [RiE ft— A AR—Y 13 13 13 39
32 [=f EA Z—1 25 13 38
32 |t # EVTFAT 25 13 38
34 |88 RIFH KHTS 13 13 6 32
34 |FMA s mHmT A 13 13 6 32
36 |RE A BRTC 13 10 6 29
36 (MW £ EWHTA 6 10 13 29
38 [&W M@ BRTC 13 13 26
38 [E #F BWHTA 13 13 26
40 |Hh —1E WER 25 25
40 |# M2 I7—X 25 25
40 |40 R EERXF 25 25
40 |&% —5 FIIBTA 13 6 6 25
40 |mE KEER 25 25
40 |+H X BIFEFRE RS 25 25
46 |iEE BN EILTH&RT 13 6 19
A7 |98 F— mHmT A 6 6 6 18
48 |®& K EWHTA 1 13 14
49 |58 EE TCOaE-Yav 13 13
49 |HA g mHmT A 13 13
49 |XH B EWHTA 13 13
49 5Bk % WER 13 13
49 |MTF #— EYTF4T 13 13
49 i k& BETHTA 13 13
49 |ME i BB —HR 13 13
49 |m B TCOIE-Yav 13 13
49 |#LE FH EYTF4T 6 1 6 13
49 |ME B— WER 1 6 6 13
59 |AxE IgEth YKK 6 6 12
59 (B8 Rz EWHTA 6 6 12
59 [=t #Ath BRTC 6 6 12
59 |#WH ER BRTC 6 6 12
59 |8 kE B IR 6 6 12
64 |ER BN EWLITS 1 6 7
64 |MHE # VT4 6 1 7
64 |Ef Kk BWITS 1 6 7
67 [k BE BB 6 6
67 |#MR  #ak WER 6 6
67 |THE Z EWHTA 6 6
67 |3 B EIWHTA 6 6
67 | Eth EWHTA 6 6
67 |/\& #®¥ BEIHTA 6 6
67 |kin =% TCOaE-Yav 6 6
67 |HiF it EHHTA 6 6
67 |l Bt Team Wish 6 6
67 |k A KREHTA 6 6
67 [EH ZH TCOaE-Yav 6 6
67 |®&) x4t KHTS 6 6
67 |{FH HH FWITS 6 6
67 |#Mm EE W —BR 6 6
67 |Hh i EIWHTA 6 6
67 |EH f— Team Wish 6 6
67 |&E Fut BB —BR 6 6
67 |HTH &AM KHTS 6 6
85 |#HN EWHTA 1 1
85 |EH #H EIWHTA 1 1
85 |FL J&EA BEIWHTA 1 1
85 |2# Mz EIWHTA 1 1
86 [ k& BEHTA 1 1
85 |&%E MW JKEHTA 1 1
86 |&® = R 1 1
85 |#B# HH Y KK 1 1
85 |#Eh fH— I7—X 1 1
856 | kig BEIWHTA 1 1
85 |& 5E Y KK 1 1
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s % i R 5= Bk 1 EB B At
IENEES TCOoax—>3v 50 150 200
1 |R8 &E TUT4T 200 200
1 |BE =Z KiEER 100 100 200
1 |#HE x# EHm T A 200 200
5 B 55656 EMEETN 150 150
6 [ElL B2 BRh T A 100 100
6 (Bl &F Em T A 100 100
6 |FIH k7€ Eabied N 100 100
9 [g1H MEBE N 75 75
9 [# FEM EESNS 75 75
RS EMEER 50 50
11 [#E B K#HT S 50 50
11 It RHAF ZILHTA 50 50
11 [IUH #E N 25 25 50
R ES sEXY 50 50
11 (% kF FEFREXE 50 50
17 |3 =x K#T S 25 25
17 [® BEF ZLEBRMEER 25 25
19 [B5&% =x T7—X 13 13
19 [/MII B TUT4T 13 13
EFHETESS =LA 13 13
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B/H: —BEFLIILR BT - ABEBEREELER
_ 20174 20174 ~s
i & R &= = BAEE
T [%d — RER 200 25 ?
T HR K& SRTC 200 2
3 [J\UE X J—FZ=HIL 150 25 200
4 A hth EI0pm L A 50 0 3
4 H EHa BmTA 50 50 3
6 Bl EA A B 25 13 0 2
7 &Il =4 YKK 50 25 00 ?
WE TR 00 50 25
[ 23] = R 50 75 275
| A AR 00 13 213
EIK TR ABAR—Y 50 13 100 213
AIH BX TCOaE-Yav 100 75 7
[ 2EER) HImD 13 63
O K [N 50 25 2
0 & EE 3 REa i 100 ?
TR B =[HRTC 100 ?
£E FE CoaE- /3) 25 13 25 13
7|k fH— AB AR~ 25 13 25 13
9 [BER &KX EIJ.IHTA 25 25 0
9 |HA #ib tennis365.net 1700
9 [fH =X EEIGy NS 100
9 'TH @#f BIEESTC 50
9 kB TE= x% S 25 25
9 |&mM IEA 25 50
9 1% W x%TS 100
- T4 7 25 0
26 [ KH ==l Tt T4 7 13 50
28 | Km Z2 Eipm LA 25 b
28 [HH FE Shim A 25 25 75
30 [RIE #ak N 50 3
30 1T =Hm T A 13 63
O M.VF Iﬂ YKK 6 9
37 N RED 6 Hho
32 |AR: 1B YKK 50
36 [EkK & TAE 50
30 /A & N 25 25
3h [k & SbEm 1A 25 25
3b [ EH =12 AER 25 25
35 WA € T4 7 50
0 [N ¥ T4 3 25 4
T [E#&k _BA T4 7 25 13 38
1 [A+&E i T A7 13 25 38
3 B fEeEm EMR1C 6 25 31
37N CoaE-Y3v 3 3 2
0 %@ SEESTC 3 3 76
A =t YKK 3 3 2
PN TN =m T A 3 3 26
g [IB= 74 BWHTA 2
8 kB em SWHTA 25
8 = = EWm A 25 2
3 |4k =2 SWLHTA 25 2
8 |MH IA AR—=—Y XA} 25 2
S P S R A ?
= S Eh%FIIEKTA 2
8 [alkA I T 25
25 —5% EF‘¥ ||g|3TA 13 Y]
D6 [ ARl =M T A 6 9
5 E E— SWm T A 13 9
56 [hOo %%ak T4 7 6 9
b6 =M % TR A 6 9
ho |mg =+ = L PT 13 9
5 INE RE {TIY 6 9
6 | Fps Bia =mTA 6 9
BA H— 5 T A 6 9
6b /\‘)’5%\ AE _ [EUEEANE 3
5 L & ZIEEXMFE 3 3
6b [mEH  &E NG 13
5 [hHE o SmTA 13 3
6b &K %EA =RTC 3
b BXH HX AMTS 3 3
6b [WIEH JXAEA [A#TS 3
b [Fke&h EIN FEM A 3 3
60 AR B AETTA 3
5 &80 %EB LERF 3 3
6b A0 b TEATE 3
b [EH ZB8 TCOIE-Y3v 13 3
6b [— O =—HBg [ICoa%-vav 13
b =8 A M TA o
6b [mE 4 T IERTA 3
b 28 ®E SRR 3 3
60 =3 FA = LT AT 3
b [AH €& G 3 3
3 A BE T4 T 6 6 2
83 [HE =& 1oTv7D 6 6 ?
8 TN =1 Sm A 6 6 2
8 ElE FE EERSHOTT 6
86 R & I A 5
8 oS8 Ps— MER 6
8 FF toT47 ¢
8 PEAT  BELD JN\ETC 6
8 B AN =M T A 6
8 & AR—YI XA | 6
8 [ AR—Y XA F 6
8 B¥ B W 1 A 6
8 ER Z SWHTA 6
8 BHF B EWHTA 6
86 |AMH =oEs Smm T A 6
8 IR AFKTS 6
8 = 4 BER 6
8 —F 3R SERTC 6
8 H N BHTA 6
8 E2 KX _EER FTA 6
8 LFlll BF e 6
8 S EEf = IR 6
8 A= 71 A 6
8 BH i i1 A 6
8 SLR N I S 6
8 [H _$hiE T T 6
8 2 % TCoaE-Yav 5
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2 & B R WUTE 0T WTE At
1 v BuE €T T 200 200 100 500
2 |K¥ KE tUTF4T 200 200 400
2 |EDS & WA 150 150 100 400
4 |FHH BE KT S 50 100 200 350
5 |& Bz €T T 100 100 100 300
5 |k HEFEF HIrA 100 100 100 300
b |ER EX WA 150 150 300
8 |&M Bx WEmTA 50 25 150 225
8 |ETH BHF €T T 50 25 150 225
10 |#& &= BINFETA 100 50 50 200
10 |EH# = €T 100 50 50 200
10 4B #5F =@ RTC 200 200
13 |\ +8 ¥ BEHTA 50 100 150
14 A BF ZR—Y A A b 50 25 50 125
14 |dhE =& ZWmTA 50 25 50 125
16 |BER EX EILmERT 50 25 75
16 |B2X =8KF WEmT A 25 50 75
18 |#1A /N@E EHESHOTT 13 50 63
19 [B¥ HBxETF EWHATA 50 50
19 | B+ tYF47 50 50
19 [*W BF BEMTA 50 50
19 |lx EF KT S 50 50
19 |28 #x KT S 50 50
19 |EH BEFHF=x RAHTS 25 25 50
19 [#&ER whY E IR 50 50
19 |ER ZHF EWHTA 25 25 50
19 (WL e KT S 50 50
19 |ma B EWMTA 50 50
19 |f2H EH HIHA 50 50
30 [#%®H == TCOIE-Yav 25 13 38
30 |B)II #EK TCOIE-Yav 25 13 38
30 |& ZR EWITS 25 13 38
30 |Re Fm tVF47 25 13 38
30 |5 ®WmET BEMTA 13 25 38
30 |BR M= BEMTA 13 25 38
30 |BR BT JL—FR 25 13 38
37 |;TA HH EWHTA 25 25
38 |mEA—3 EWHTA 13 13
38 |MEEF AT ZWITS 13 13
38 |#HF T ZWITS 13 13
38 o ExE T4 T 13 13
38 |HFHE = RAHTS 13 13
38 |BR why EWITS 13 13
38 | RA®R # T4 T 13 13
38 | K5 ¥t VT4 13 13
38 |E BT EWHTA 13 13
38 |WW H#3x= EWHTA 13 13




